N = 0l & At & M A

SN FeD
Ba: z)=x 53
&l AlY 9IRAUOIIE 22 (FEHMLSEIA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e 3,675,111 3,628,252 46,859
FHEXN & 111,478 3,593,602 A 3,482,124
ANE SIRAUOIME 22l (HAMLSEIA) 111,478 3,593,602 A3,482,124
CHH2YOIIIE AldE= 37,500 37,500 0
401 Al HIZ 2018 37,500 37,500 0
01 A& HI 37,500 37,500 0
OXMEMU AMEES(ZH, 2 S)
1,500,000& =15 Al CH 22,500
OJIENU &b, &8 s WH
1,500,000& =10 Al CH 15,000
CHHE2HOIIE 2022l 37,978 32,978 5,000
201 24l 31,258 26,258 5,000
01 At 22l 218 218 0
O1 Ler==2H| 218
DEHASHOIIE JIHE =2
80 7024 +128 68
DEHASHOIIE 2UHE XA
150,000 14 150
02 =24l 31,040 26,040 5,000
O1 3322 ¥ HA 640
DHHSE#HOIIE 22l 50,000& *5All CH 250
DEHASHOIIME SFMEEZ
3,900 » 100 Al CH 390
O3 A& ZHl s Xl 30,400
DA 2AIAMNAY SXES
5,400,000 =14 5,400
DHHSEHOIME AME2 A2
250,000 =100 All CH 25,000
202 O4dl 4,800 4,800 0
01 = LH 4 di 4,800 4,800 0
OHAHSHOIIIE ANERXEZ obl
400,000 123 4,800
402 2I2H X201 M 1,920 1,920 0
03 212t &AL S HI 1,920 1,920 0
OHHSHOME SEEFEE3
1,600 *100AMI CH =123 1,920
ol gl gl 36,000 3,523,124 A 3,487,124
801 Ol I 36,000 3,523,124 A3,487,124
01 eroildl gl 36,000 3,523,124 A 3,487,124
Ouldl gl 36,000,000 =14 36,000
HeEs (=) 3,563,633 34,650 3,528,983
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